| Efficiency vs Dxy |

> 0.5

S dx
=
N
(6)]
|IIII

o
N
|

03]

efficiency v

o
[
[

025
02
e

Q08

O

......................................

.................................
.................................

1.

Ratio

0.95

=
!

| Efficiency vs Dz |

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT_original_time2
—e— DQM_TT_modified_time2
—+— DQM_TT_modifiedINIT_time2

N 0.
o]

> -

N oo

2 0,00+ foro

(&) : :
c =-eeeees s :
5 0.08 5 5
Q : :
£ 0.07 peeee :
(0] : :

0.0 E
O] R |
1117 |

..........

0.08F v

002

OIIII;

Ratio

15

30
TP dz (cm)




	Contents
	Page 1


